		Pri	mary	Seco	ndary
Description	Est. Qty	Lord's Relocation Services, Inc. d/b/a All Points of Texas Grand Prairie, TX HUB - No Coop - Yes		HUB	v, Inc. s, TX - No - Yes
Section A - Labor/Insurance		Price Per Each	Extended Price	Price Per Each	Extended Price
Supervisor - Regular Time (Per Hour/Per Person)	1	\$0.00	\$0.00	\$27.00	\$27.00
Supervisor - Overtime (Per Hour/Per Person)	1	\$0.00	\$0.00	\$27.00	\$27.00
Driver - Regular Time (Per Hour/Per Person)	1-5	\$45.00	\$225.00	\$25.00	\$125.00
Driver - Overtime (Per Hour/Per Person)	1-5	\$0.00	\$0.00	\$25.00	\$125.00
Packer - Regular Time (Per Hour/Per Person)	1-2	\$0.00	\$0.00	\$22.00	\$44.00
Packer - Overtime (Per Hour/Per Person)	1-2	\$0.00	\$0.00	\$22.00	\$44.00
Mover - Regular Time (Per Hour/Per Person)	1-15	\$20.00	\$300.00	\$22.00	\$330.00
Mover - Overtime. (Per Hour/Per Person)	1-15	\$0.00	\$0.00	\$22.00	\$330.00
Installer - Regular Time (Per Hour/Per Person)	0-2	\$20.00	\$40.00	\$23.00	\$46.00

Primary - Lord's Relocation Services, Inc. d/b/a All Points of Texas

Secondary - Exserv, Inc.

Description	Est. Qty	Lord's Relocation Services, Inc. d/b/a All Points of Texas Grand Prairie, TX HUB - No Coop - Yes		Exserv, Inc. Dallas, TX HUB - No Coop - Yes	
Installer - Overtime (Per Hour/Per Person)	0-2	\$0.00	\$0.00	\$23.00	\$46.00
Full Value Protection. (Per \$1000)		\$4.50	N/A	\$6.00 - S	N/A
Trip Charge Per Hour - Max 2 Hours Per Day *Does Not Include Crew Rates	2	2 hrs for crew		\$75.00 Per Hour	
Total Cost Section A		\$565	.00	\$1,144.00	
Section B - Storage					
Warehouse Storage (Daily)					
Per Square Foot Regular	0 -1	\$0.85	\$0.85	\$0.95	\$0.95
Per Square Foot Air Conditioned and Heated	0 -1	\$1.15	\$1.15	N/A	N/A
Per Vault (8x5 . 5x5)	0 -1	\$35.00	\$35.00	N/A	N/A
Onsite Storage					
Approx. 200 Cubic Feet					
Daily Rate	0 -1	\$3.00	\$3.00	\$3.00	\$3.00

Description	Est. Qty			Exserv, Inc. Dallas, TX HUB - No Coop - Yes		
Pick-up and Delivery Each	0 -1	\$0.00	\$0.00	\$50.00	\$50.00	
Approx. 400 Cubic Feet						
Daily Rate	0 -1	\$3.83	\$3.83	\$3.25	\$3.25	
Pick-up and Delivery Each	0 -1	\$0.00	\$0.00	\$50.00	\$50.00	
Approx. 1200 Cubic Feet						
Daily Rate	0 -1	\$4.25	\$4.25	\$3.50	\$3.50	
Pick-up and Delivery Each	0 -1	\$100.00	\$100.00	\$100.00	\$100.00	
Approx. 2500 Cubic Feet						
Daily Rate	0 -1	\$7.90	\$7.90	\$4.50	\$4.50	
Pick-up and Delivery Each	0 -1	\$100.00	\$100.00	\$100.00	\$100.00	
Section C - Materials						
1.5 Box	1	\$1.25	\$1.25	\$3.00	\$3.00	
3.1 Box	1	\$3.00	\$3.00	\$3.25	\$3.25	
4.5 Box	1	\$4.25	\$4.25	\$3.50	\$3.50	
6.1 Box	1	\$6.00	\$6.00	\$5.00	\$5.00	
Dish Pack Box	1-20	\$4.50	\$90.00	\$7.00	\$140.00	
1.5 Pop Up Box	1-100	\$2.10	\$210.00	\$3.00	\$300.00	

Primary - Lord's Relocation Services, Inc. d/b/a All Points of Texas

Description	Lord's Relocation Services, Inc. d/b/a All Points of Texas Grand Prairie, TX Est. Qty Coop - Yes		Exserv, Inc. Dallas, TX HUB - No Coop - Yes		
Shrink Wrap (Roll)	1-10	\$28.00	\$280.00	\$20.00	\$200.00
Small Bubble Roll (24"x300')	1	\$50.00	\$50.00	\$15.00	\$15.00
Paper Pads	1-80	\$2.00	\$160.00	\$3.00	\$240.00
Anti-Static Micro Bubble PC Screen Saver	1-80	\$2.00	\$160.00	\$5.00	\$400.00
Labels per 650	1-15	\$20.00	\$300.00	\$15.00	\$225.00
Crate Security Seals	1-20	\$1.00	\$20.00	\$0.10	\$2.00
Newsprint Per Pound	1-100	\$1.00	\$1,000.00	\$1.00	\$100.00
Painters Blue Tape (3M)	1-30	\$8.00	\$240.00	\$3.00	\$90.00
Flute Wall Protection Per Foot (6' Tall Min,)	1-1200	\$0.50	\$600.00	\$20.00	\$24,000.00
Plastic Tape (Roll)	1-25	\$2.25	\$56.25	\$2.00	\$50.00
Corrugated Floor Protection (Per Foot)	1-800	\$1.00	\$800.00	\$20.00	\$16,000.00
Masonite Floor Protection (Per Foot)	1-600	\$1.00	\$600.00	\$3.25	\$1,950.00
Section D - Rental Equipment					
Daily					
Double Sided Library Cart	1-35	\$4.50	\$157.50	\$1.50	\$52.50

Primary - Lord's Relocation Services, Inc. d/b/a All Points of Texas

Description	Est. Qty			Exserv, Inc. Dallas, TX HUB - No Coop - Yes	
Carpeted Machine Cart	1-20	\$4.50	\$90.00	\$1.50	\$30.00
Wooden Art Gondola	1-5	\$40.00	\$200.00	\$1.00	\$5.00
Panel Cart	1-10	\$4.50	\$45.00	\$0.50	\$5.00
Tri Wall Movers Boxes	1-5	\$5.00	\$25.00	\$1.00	\$5.00
Pallet Jack	1	\$20.00	\$20.00	\$1.00	\$1.00
4-Wheel Funiture Dolly	1-5	\$1.50	\$7.50	\$1.00	\$5.00
Safe Jack	1	\$75.00	\$75.00	\$35.00	\$35.00
Weekly					
Crate Rental w/Dolly 4.1	1-600	\$3.50	\$2,100.00	\$1.75	\$1,050.00
1.5 Pop Up Box Rental Crate	1-5	\$3.00	\$15.00	\$1.75	\$8.75
Double Sided Library Cart	1-35	\$20.00	\$700.00	\$10.50	\$367.50
Carpeted Machine Cart	1-20	\$20.00	\$400.00	\$10.50	\$210.00
Wooden Art Gondola	1-5	\$75.00	\$375.00	\$7.00	\$35.00
Panel Cart	1-10	\$17.50	\$175.00	\$3.50	\$35.00
Tri Wall Movers Boxes	1-5	\$20.00	\$100.00	\$7.00	\$35.00
Pallet Jack	1	\$40.00	\$40.00	\$7.00	\$7.00

Primary - Lord's Relocation Services, Inc. d/b/a All Points of Texas

Description	Est. Qty			Exserv, Inc. Dallas, TX HUB - No Coop - Yes	
4-Wheel Funiture Dolly	1-5	\$1.50	\$7.50	\$7.00	\$35.00
Safe Jacks	1	N/A	N/A	N/A	N/A
Monthly					
Crate Rental w/Dolly 4.1	1-600	\$11.00	\$6,600.00	\$7.00	\$4,200.00
1.5 Pop Up Box Rental Crate	1-5	\$3.00	\$15.00	\$7.00	\$35.00
Double Sided Library Cart	1-35	\$68.00	\$2,380.00	\$45.00	\$1,575.00
Carpeted Machine Cart	1-20	\$68.00	\$1,360.00	\$45.00	\$900.00
Wooden Art Gondola	1-5	\$150.00	\$750.00	\$30.00	\$150.00
Panel Cart	1-10	\$68.00	\$680.00	\$15.00	\$150.00
Tri Wall Movers Boxes	1-5	\$25.00	\$125.00	\$30.00	\$150.00
Pallet Jack	1	\$150.00	\$150.00	\$30.00	\$30.00
4-Wheel Funiture Dolly	1-5	\$3.00	\$15.00	\$30.00	\$150.00
Safe Jacks	1	N/A	N/A	N/A	N/A

Description	Est. Qty	Move Solutions, Ltd. Dallas, TX HUB - Yes Coop - Yes		Suddath Relocation Systems of Texas, Inc. HUB - No Coop - Yes	
Section A - Labor/Insurance		Price Per Each	Extended Price	Price Per Each	Extended Price
Supervisor - Regular Time (Per Hour/Per Person)	1	\$32.00	\$32.00	\$32.00	\$32.00
Supervisor - Overtime (Per Hour/Per Person)	1	\$32.00	\$32.00	\$34.00	\$34.00
Driver - Regular Time (Per Hour/Per Person)	1-5	\$32.00	\$160.00	\$32.00	\$160.00
Driver - Overtime (Per Hour/Per Person)	1-5	\$32.00	\$160.00	\$34.00	\$170.00
Packer - Regular Time (Per Hour/Per Person)	1-2	\$28.00	\$56.00	\$27.00	\$54.00
Packer - Overtime (Per Hour/Per Person)	1-2	\$28.00	\$56.00	\$28.00	\$56.00
Mover - Regular Time (Per Hour/Per Person)	1-15	\$28.00	\$420.00	\$27.00	\$405.00
Mover - Overtime. (Per Hour/Per Person)	1-15	\$28.00	\$420.00	\$28.00	\$420.00
Installer - Regular Time (Per Hour/Per Person)	0-2	\$31.00	\$62.00	\$35.00	\$70.00

Primary - Lord's Relocation Services, Inc. d/b/a All Points of Texas

Description	Est. Qty	Move Solutions, Ltd. Dallas, TX HUB - Yes Coop - Yes		Suddath Relocation Sys HUB - Coop - `	No
Installer - Overtime (Per Hour/Per Person)	0-2	\$31.00	\$62.00	\$38.00	\$76.00
Full Value Protection. (Per \$1000)		Per Project	N/A	\$3.50	N/A
Trip Charge Per Hour - Max 2 Hours Per Day *Does Not Include Crew Rates	2	Per Project		\$100.00 Per Hour	
Total Cost Section A		\$1,46	0.00	\$1,477.00	
Section B - Storage					
Warehouse Storage (Daily)					
Per Square Foot Regular Per Square Foot Air Conditioned	0 -1	\$1.00	\$1.00	\$0.50	\$0.50
and Heated	0 -1	\$1.50		N/A	N/A
Per Vault (8x5 . 5x5)	0 -1	N/A	N/A	\$30.00	
Onsite Storage					
Approx. 200 Cubic Feet					
Daily Rate	0 -1	N/A	N/A	\$10.00	\$10.00

Description	Est. Qty			Suddath Relocation Systems of Texas, I HUB - No Coop - Yes	
Pick-up and Delivery Each	0 -1	N/A	N/A	\$160.00	\$160.00
Approx. 400 Cubic Feet					
Daily Rate	0 -1	N/A	N/A	\$20.00	\$20.00
Pick-up and Delivery Each	0 -1	N/A	N/A	\$160.00	\$160.00
Approx. 1200 Cubic Feet					
Daily Rate	0 -1	N/A	N/A	\$35.00	\$35.00
Pick-up and Delivery Each	0 -1	N/A	N/A	\$200.00	\$200.00
Approx. 2500 Cubic Feet					
Daily Rate	0 -1	N/A	N/A	\$45.00	\$45.00
Pick-up and Delivery Each	0 -1	N/A	N/A	\$250.00	\$250.00
Section C - Materials					
1.5 Box	1	\$2.25	\$2.25	\$1.35	\$1.35
3.1 Box	1	N/A	N/A	\$3.00	\$3.00
4.5 Box	1	N/A	N/A	\$3.75	\$3.75
6.1 Box	1	N/A	N/A	\$4.50	\$4.50
Dish Pack Box	1-20	N/A	N/A	\$6.50	\$130.00
1.5 Pop Up Box	1-100	\$2.25	\$225.00	\$2.00	\$200.00

Primary - Lord's Relocation Services, Inc. d/b/a All Points of Texas

Secondary - Exserv, Inc.

Description	Est. Qty			HUB	Systems of Texas, Inc. - No - Yes
Shrink Wrap (Roll)	1-10	\$26.00	\$260.00	\$25.00	\$250.00
Small Bubble Roll (24"x300')	1	\$46.25	\$46.25	\$100.00	\$100.00
Paper Pads	1-80	\$1.50	\$120.00	\$2.75	\$220.00
Anti-Static Micro Bubble PC Screen Saver	1-80	\$6.89	\$551.20	\$2.50	\$200.00
Labels per 650	1-15	\$52.00	\$780.00	\$20.00	\$300.00
Crate Security Seals	1-20	\$0.87	\$17.40	\$0.50	\$10.00
Newsprint Per Pound	1-100	\$1.50	\$150.00	\$1.00	\$100.00
Painters Blue Tape (3M)	1-30	\$6.00	\$180.00	\$2.00	\$60.00
Flute Wall Protection Per Foot (6' Tall Min,)	1-1200	\$0.00	\$0.00	\$0.50	\$600.00
Plastic Tape (Roll)	1-25	\$6.00	\$150.00	\$10.00	\$250.00
Corrugated Floor Protection (Per Foot)	1-800	\$0.45	\$360.00	\$0.00	\$0.00
Masonite Floor Protection (Per Foot)	1-600	\$1.50	\$900.00	\$0.00	\$0.00
Section D - Rental Equipment					
Daily					
Double Sided Library Cart	1-35	\$8.50	\$297.50	\$3.00	\$105.00

Primary - Lord's Relocation Services, Inc. d/b/a All Points of Texas

Description	Est. Qty	Move Solutions, Ltd. Dallas, TX HUB - Yes Coop - Yes		Suddath Relocation Systems of Texas, Inc. HUB - No Coop - Yes	
Carpeted Machine Cart	1-20	\$8.50	\$170.00	\$10.00	\$200.00
Wooden Art Gondola	1-5	\$8.50	\$42.50	\$10.00	\$50.00
Panel Cart	1-10	\$8.50	\$85.00	\$10.00	\$100.00
Tri Wall Movers Boxes	1-5	\$0.00 (Rental)	\$0.00 (Rental)	\$10.00	\$50.00
Pallet Jack	1	\$26.00	\$26.00	\$30.00	\$30.00
4-Wheel Funiture Dolly	1-5	\$0.00 (Rental)	\$0.00 (Rental)	\$3.00	\$15.00
Safe Jack	1	\$45.00	\$45.00	\$75.00	\$75.00
Weekly					
Crate Rental w/Dolly 4.1	1-600	\$2.10	\$1,260.00	\$1.75	\$1,050.00
1.5 Pop Up Box Rental Crate	1-5	N/A	N/A	\$1.00	\$5.00
Double Sided Library Cart	1-35	\$59.50	\$2,082.50	\$21.00	\$735.00
Carpeted Machine Cart	1-20	\$59.50	\$1,190.00	\$20.00	\$400.00
Wooden Art Gondola	1-5	\$59.50	\$297.50	\$20.00	\$100.00
Panel Cart	1-10	\$59.55	\$595.50	\$20.00	\$200.00
Tri Wall Movers Boxes	1-5	\$0.00 (Rental)	\$0.00 (Rental)	\$20.00	\$100.00
Pallet Jack	1	\$182.00	\$182.00	\$50.00	\$50.00

Description	Est. Qty	Move Solutions, Ltd. Dallas, TX HUB - Yes Coop - Yes		HUE	Systems of Texas, Inc. 3 - No 9 - Yes
4-Wheel Funiture Dolly	1-5	\$0.00 (Rental)	\$0.00 (Rental)	\$6.50	\$32.50
Safe Jacks	1	N/A	N/A	N/A	N/A
Monthly					
Crate Rental w/Dolly 4.1	1-600	\$9.00	\$5,400.00	\$7.00	\$4,200.00
1.5 Pop Up Box Rental Crate	1-5	N/A	N/A	\$4.00	\$20.00
Double Sided Library Cart	1-35	\$255.00	\$8,925.00	\$84.00	\$2,940.00
Carpeted Machine Cart	1-20	\$255.00	\$5,100.00	\$50.00	\$1,000.00
Wooden Art Gondola	1-5	\$255.00	\$1,275.00	\$50.00	\$250.00
Panel Cart	1-10	\$255.00	\$2,550.00	\$50.00	\$500.00
Tri Wall Movers Boxes	1-5	\$0.00 (Rental)	\$0.00 (Rental)	\$50.00	\$250.00
Pallet Jack	1	\$780.00	\$780.00	\$150.00	\$150.00
4-Wheel Funiture Dolly	1-5	\$0.00 (Rental)	\$0.00 (Rental)	\$21.00	\$105.00
Safe Jacks	1	N/A	N/A	N/A	N/A